BENGEE R FEIFHHAEE
() Sfe4d 3H31H

(H) Sf54 4H 1A

thefmibis N4 thafRtbis NIRRT SRR i ag s

CHA7: 1)
R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)

=3 - {E 1,409,000 1,556,000 A 147,000

2HE IR 1,409,000 1,556,000 A 147,000

— RSB 763,000 869,000 A 106,000

RSB AR 221,000 266,000 A 45,000

HENSBIAE 425,000 421,000 4,000

R i Bh A I 2 6,898,000 11,748,000 A 4,850,000

T X ET AT B 42U S 6,898,000 11,748,000 A 4,850,000

g ak T B A Bh A IR 2,621,000 7,469,000 A 4,848,000

& B R P B R E A A B A IS 4,277,000 4,279,000 A 2,000

I Rt LS 17,753,604 20,317,721 A 2,564,117

I T X ETR 52 FEA A 17,432,004 17,839,521 A 407,517

ENfEAEE v — A PE S FE AN AR 5,543,000 5,543,000 0

MERFEZ TSN 135,004 113,076 21,928

AT SR PRI B i 95 252 e AR 5,643,000 6,446,445 A 803,445

AL BRI L 2 M 2 300 6,111,000 5,737,000 374,000

AR TE I AL 2 e IR 321,600 2,478,200 A 2,156,600

ATEEALE & B FES IR 321,600 2,478,200 A 2,156,600

FEHEIAE 209,500 167,600 41,900

FIFPEHIN A% 209,500 167,600 41,900

NG o Z —FI B A 209,500 167,600 41,900

H— B AN A 51 (1) 26,270,104 33,789,321 A 7,519,217

N 21,392,376 21,423,414 A 31,038

152 B 1,008,000 1,123,000 A 115,000

Tk B ek 10,976,773 11,775,723 A 798,950

T B ke 9,878,200 10,930,373 A 1,052,173

B8 FY 1,098,573 845,350 253,223

e E 5 2,443,855 1,963,755 480,100

B 55140 1,378,407 1,318,310 60,097

FEHETRE AR5 2,383,328 2,194,431 188,897

PIE) S S = gE! 679,833 679,086 747

W B T AN R R IRAG 1] 51 4 A A 679,833 679,086 747

[ e ) 2,522,180 2,369,109 153,071

bl [FERE 496,317 541,411 A 45,094

= PR (F3€) 150,000 125,000 25,000

e MR EER M 135,004 113,076 21,928

%) GETTE ¢ 211,313 303,335 A 92,022

| | T 8,662,564 7,686,170 976,394

o ff&.%lﬂ%ﬁz% 58,035 51,654 6,381

D B A 25,260 103,692 A 78,432

o WHEN R & 48,500 86,700 A 38,200

: FHIEAE LR 600,941 475,004 125,937

HHIEAEME 543,175 426,578 116,597

AR AR 2 VHRE L B S H 57,766 48,426 9,340

Il Ay 19,360 19,800 A 440

2 VISP AL ¢ 1,247,609 1,316,723 A 69,114

] s 807,696 854,254 A 46,558

H A 53,913 54,685 A 772

VSRS 386,000 407,784 A 21,784

EREE 103,840 400,103 A 296,263

BAEEE 1,051,745 851,373 200,372

N 22,295 3,834 18,461

T 24,200 7,700 16,500

e T ¢ 1,255,540 1,153,234 102,306

1B Y EEB LU 1,255,540 1,153,234 102,306

FHEE 1,393,785 1,333,796 59,989




PRI 67,955 73,260 A 5,305
EEE 356,021 292,578 63,443
FBLAGE 1,051,146 219,327 831,819
PRAFEE 1,241,639 1,193,118 48,521

VoL E 11,000 48,074 A 37,074

k- 83,693 56,200 27,493
B4 A 159,000 159,000 0
Bhpk 4% A 159,000 159,000 0

E DO Bk E A 159,000 159,000 0

A4 27,000 27,000 0
HHEEEH 27,000 27,000 0
BHeEE A 27,000 27,000 0

A N2 112,066 150,119 A 38,053

] oAl Bh A S R A S A U B 70,037 70,037 0
F—EAEDR T (@ 30,779,286 29,917,077 862,209

H— B EENEECER (3) = (1) - (2) A 4,509,182 3,872,244 A 8,381,426

BB G R E 535 591 A 56
1 3R VE 4 5% TR ERD 24 4N 26 259 102 157
[ & TEA S RSB Y A4S 83 223 A 140
A I fE Ik 52 ORI X & 1 A 193 266 A 73
TG, c| & DMLY — v ATHEESMNLE 356,724 579,363 A 222,639
T HEIAR 356,724 579,363 A 222,639
P48 HME A 356,724 579,363 A 222,639
Y HEZE 356,724 579,363 A 222,639
N5 H— B AR AN A 51 (4) 357,259 579,954 A 222,695
D +— e X {EESNE HE (5) 0 0 0
& H— B A HESNEECER (6)=(4) - (5) 357,259 579,954 A 222,695
1 HE ek = EA (7) = (3) +(6) A 4,151,923 4,452,198 A 8,604,121

LRI o ] A A e 4,850,000 0 4,850,000

F|  FEEEAR- x%%mm NI A 4,850,000 0 4,850,000
i BT R L X e A NS 4,850,000 0 4,850,000
KR Hﬂﬁ?dr (8) 4,850,000 0 4,850,000

%ﬁ»—txz Sy IR A 7 1] 0 1,000 A 1,000
] Hi st ik - ADC A5 A4 T 0 1,000 A 1,000
K& HEE ) 0 1,000 A 1,000

el HE P ZE%R (10) = (8) — (9) 4,850,000 A 1,000 4,851,000
iﬁﬁ%lﬁuéﬂ;ﬁ{ﬁﬁi@ﬂﬁ#%(ll) (7)+(10) 698,077 4,451,198 A 3,753,121
B ZE%E (16)=(11) - (12) - (13) - (14) - (15 698,077 4,451,198 A 3,753,121

o (A 2 ey B B ek 22 E (17) 6,070,005 1,699,077 4,370,928
¢ Y R RS B P JEOERR (19)=(16) + (17) +(18) 6,768,082 6,150,275 617,807
|| DAt O FEST B FENTEH (23) 60,272 80,270 A 19,998
ol B 1~ S o T VARt = RV 266 266 0
o I 12 ot VA o - VA | 60,006 80,004 A 19,998
i | U R BTG B B k2 4R (24) = (19) +(20) + (21) + (22) - (23) 6,707,810 6,070,005 637,805




SRR B HEE 2 TR BRI

() FFeH 3)%531 H

(H) Sf54 4H 1A

HAEMEAL  ASEEE RN SR AL 2

(L 1)
R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)

=3 - {E 1,420,000 1,420,000 0
2HE IR 1,420,000 1,420,000 0
| R 1,420,000 1,420,000 0
I =Rt AR 264,000 264,000 0
T X ETR 2 FEA I A 264,000 264,000 0
W X zEV= y TERFESFEIEE 264,000 264,000 0
1 H— B A IEEIAEET (1) 1,684,000 1,684,000 0
ol |FE# 292,620 264,000 28,620
2 KAt 290,000 264,000 26,000
E X xBW~y TEREERE 290,000 264,000 26,000
%) FEWEELE 2,620 0 2,620
| |FEE 1,298,309 1,272,432 25,877
i Al it 4 44,360 33,069 11,291
[ 2 % \ 1,223,000 1,222,900 100
a X5 Eh B pk 4 1,223,000 1,222,900 100
" - 5,432 0 5,432
FEE 9,350 2,035 7,315
EfEE 1,874 0 1,874
PR 14,293 14,428 A 135
H— v X G E Q) 1,590,929 1,536,432 54,497
T — B X EEEECER (3) = (D) - (2) 93,071 147,568 A 54,497
i H— B A {EESMEEE (4 0 0 0
L Y — B A ES I EE (5) 0 0 0
: H— B A {EEMEECER (6) = (4) - (5) 0 0 0
8 HE k280 (7) = (3) +(6) 93,071 147,568 A 54,497
H BRI 4R 5T (8) 0 0 0
B 5 | ail 24 Y5 Eh e A= AE (11) = (7) +(10) 93,071 147,568 A 54,497
é%ﬁ{ﬁb%ﬂ%ﬁé(m) (11)-(12)-(13)-(14)- (19 93,071 147,568 A 54,497
| B e 0 HERGE AR (17) 824,737 677,169 147,568
R E B RS AL(19) = (16) + (17)+ (18) 917,808 824,737 93,071
* [ ERTE BRI A (24) = (19) +(20) + (21) + (22) - (23) 917,808 824,737 93,071




AL E R R ER A E
() Sfe4d 3H31H

(H) Sf54 4H 1A

thefmiE N4 thatRtbis NRBFET Rt ek

CHA7: 1)

R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)
=3 - {E 1,699,000 1,233,000 466,000
2HE IR 1,699,000 1,233,000 466,000
— RSB 1,699,000 1,233,000 466,000
R i Bh A I 2E 324,006 496,910 A 172,904
SN IR EAY 259,006 431,910 A 172,904
Z OO - A B &I 259,006 431,910 A 172,904
T X ET AT B 42U S 65,000 65,000 0
S EE P PER 2 EM B &R 65,000 65,000 0
ZREAINE 6,519,738 6,647,241 A 127,503
X ET A 52 RE4 I AR 6,374,210 6,647,241 A 273,031
I E%ﬁ;%%JWn:%%E;f/fﬂﬁ 2,633,458 2,659,853 A 26,395
I EATR T RS AR 2,189,600 2,310,400 A 120,800
FOFIE 777::;@%/%141& 36,000 30,000 6,000
Bt — B A FESZFEEIUL 500,000 468,000 32,000
<< AR — FNEEZ SN 42,500 208,500 A 166,000
INBF TR 2 — ek PR SRS 652,652 620,488 32,164
i{ﬁibﬁﬁiﬂﬂ*ﬁW%%mﬁémﬁ 320,000 350,000 A 30,000
# A TE I AL 2 e AR 145,528 0 145,528
|| 1,576,367 1,803,599 A 227,232
o NS 117,300 42,300 75,000
= HIFHEHI & 1,459,067 1,761,299 A 302,232
o L OMOFIAEHAR 1,459,067 1,761,299 A 302,232
%) H— B AN A 51 (1) 10,119,111 10,180,750 A 61,639
| (AR 3,139,717 3,401,561 A 261,844
. I Bk B e - 3,108,195 3,339,863 A 231,668
D LA 31,622 61,698 A 30,176
o HEE 5,204,424 4,895,997 308,427
: R A 10,800 10,800 0
I 2 2,375,740 2,293,493 82,247
R A 1,280 0 1,280
Il Ay 0 40,150 A 40,150
NH#EE) 7Ly o FEE 2,400,353 2,364,489 35,864
14 ARV SRR AR R A 2 358,144 108,769 249,375
i HEWEELE 58,107 78,296 A 20,189
HE 659,708 720,932 A 61,224
RE T4 43,750 0 43,750
WHEMF R 0 15,000 A 15,000
DR 70,300 38,950 31,350
FHCEE 97,396 76,468 20,928
PRI 71,037 28,314 42,723
B TR 377,215 562,200 A 184,985
M 10 0 10
Mt 10 0 10
H— v X {EENVE G (2) 9,003,849 9,018,490 A 14,641
B — B A EEHEEER (3) = (D) - (2) 1,115,262 1,162,260 A 46,998
T | ooV — e A TEESM A 145,716 0 145,716
“lig Z&&ﬂzﬁ‘ 145,716 0 145,716
% g FHEU 2 145,716 0 145,716
o HEN 4 ) 5,716 0 5,716
s — B R IREAM G R (4) 145,716 0 145,716
i Y — B ATEEI R A (5) 0 0 0
@ H— B A IEESNEECER (6)=(4) - (5) 145,716 0 145,716
T o B A= %A (7) = (3) +(6) 1,260,978 1,162,260 98,718
H BRI EEE (8) 0 0 0
B 5 | Al 24 HYE Eh e AE (1) = (7) +(10) 1,260,978 1,162,260 98,718




é%ﬁ{%@]tﬁﬂﬂ%ﬁﬁu@ (1D-012)-013)-14)-05 1,260,978 1,162,260 98,718
BT Bl i MR E AR (17) 2,479,320 1,317,060 1,162,260
r;j U SR B B R S (19) = (16) + (17) + (18) 3,740,298 2,479,320 1,260,978
[ R BE B IGEE (24) = (19) +(20) + (21) + (22) - (23) 3,740,298 2,479,320 1,260,978




AT o7 ¢ TIEERE FHELEGEE
(F) &6 3H31H

(H) Sf54 4H 1A

thefmibis N4 thafRtbis NIRRT SRR i ag s

CHA7: 1)

R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)
=3 - {E 1,507,000 1,805,500 A 298,500
2HE IR 1,507,000 1,805,500 A 298,500
— RSB 1,507,000 1,805,500 A 298,500
R i Bh A I 2 5,060,000 5,010,000 50,000
T X ET AT B 42U AE 5,060,000 5,010,000 50,000
RIZ T 47 a—7 4 x—F—HiBh&l) 5,060,000 5,010,000 50,000
I ALY \ 3,803,000 2,363,000 1,440,000
ael TR 52 RE I g 3,803,000 2,363,000 1,440,000
KT UT 4 T X —FEZTLENIE 1,803,000 1,803,000 0
ARG SR AR 32 e A 2,000,000 560,000 1,440,000
HEPLE 1,098,600 1,022,900 75,700
FI BN 2% 1,098,600 1,022,900 75,700
KT T 4 782 —FRFEHN S 47,400 26,500 20,900
Z DA OF B S 1,051,200 996,400 54,800
H— B AN A 51 (1) 11,468,600 10,201,400 1,267,200
N 7,389,255 6,803,034 586,221
Wik B Aa 3,327,235 3,148,059 179,176
Tk B fa 3,128,100 3,046,500 81,600
T 27 T4 199,135 101,559 97,576
e E 5 846,756 669,887 176,869
IS YN 465,795 441,512 24,283
FEHERERG G 1,538,920 1,402,056 136,864
g | RS 300,498 290,358 10,140
1 BRI RN BB IRRAG 1 5] 5 A 300,498 290,358 10,140
bl | EEEAIE 910,051 851,162 58,889
2| [FERE 1,458,623 1,480,852 A 22,229
£ e RE 1,099,601 1,235,407 A 135,806
w | TR 244,739 245,445 A 706
pal | FFEHFEARTE 114,283 0 114,283
| | TR 2,607,326 2,298,741 308,585
O EF| A 27,190 23,938 3,252
o WHEW I 0 7,000 A 7,000
: FHIEAE LR 198,806 294,473 A 95,667
HHIEAEME 198,806 294,473 A 95,667
] VISP AL 366,813 402,602 A 35,789
B 325,648 365,912 A 40,264
AEE 41,165 36,690 4,475
PR 262,480 202,400 60,080
PR 262,480 202,400 60,080
EfEE 22,000 0 22,000
B ER 239,753 225,833 13,920
TR 490,963 419,870 71,093
e ¢ 84,150 79,200 4,950
ICEIE 7 BT s 84,150 79,200 4,950
FHCEE 30,529 32,762 A 2,233
PRI 14,336 13,842 494
EfEE 472,665 283,294 189,371
FBLAFE 227,457 135,611 91,846
PRSF R 170,184 177,916 A 7,732
A H 0 165,000 A 165,000
A4 H 0 165,000 A 165,000
B AEH 0 165,000 A 165,000
Jek A 4 0 2 21,450 21,450 0
H— v X yEEE G (2) 11,476,654 10,769,077 707,577
H— B A HEHHECERR (3) = (D) - (2) A 8,054 A 567,677 559,623




Tl |ZF ooV — e ATEESMLLE 413,055 660,699 A 247,644
£ iy HME A% 413,055 660,699 A 247,644
- i< Pl 413,055 660,699 A 247,644
o HME A 413,055 660,699 A 247,644
3 — B R IREAM R R (4) 413,055 660,699 A 247,644
min Y — B ATEEI BT EE (5) 0 0 0
P H— B A IHESNEECER (6)=(4) - (5) 413,055 660,699 A 247,644

1 FE sk = EA (7) = (3) +(6) 405,001 93,022 311,979
WiV B AR A R4 0 1,000 A 1,000
s [ VRN E FE - A K Oy A B I A 0 1,000 A 1,000
ol FER A 5T (8) 0 1,000 A 1,000
o FERIEEGERR (10)=(8) —(9) 0 1,000 A 1,000
B 5 | ail 24 S Eh s AE (11) = (7) +(10) 405,001 94,022 310,979
YR BN EERE (16)= (11D - (12)-(13)-(14) - (15 405,001 94,022 310,979
¢ | T A e i Rl S (17) A 344,577 A 438,599 94,022
|2 AR M B s 2R (19) = (16) + (17) + (18) 60,424 A 344,577 405,001
* R ERE B AR (24) = (19) +(20) + (21) + (22) - (23) 60,424 A 344,577 405,001




FHRRPITE & 2
(H) Sf54 4H 1A

thefmibis N4 thafRtbis NIRRT SRR i ag s

HEIEI R E

() Sfe4d 3H31H

CHA7: 1)
R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)
=3 - {E 80,000 100,000 A 20,000
FN|  SEIEE 80,000 100,000 A 20,000
[ — RSB 80,000 100,000 A 20,000
= B — B AR A4S 51 (1) 80,000 100,000 A 20,000
Al | FHEE 66,000 138,000 A 72,000
YEq A4 66,000 138,000 A 72,000
@J% i 7,832 11,540 A 3,708
f’%&;ﬁ HHIHEE T 6,530 10,000 A 3,470
ik HHIEREMLE 6,530 10,000 A 3,470
D FHEE 1,302 1,540 A 238
il H— v X JEEVE G (2) 73,832 149,540 A 75,708
H— B X IEEHEECER (3) = (D) - (2) 6,168 A 49,540 55,708
i +— B AEESMEE (4) 0 0 0
] H— e X {EESNE HE (5) 0 0 0
H— B A {HESNEECER (6)=(4) - (5) 0 0 0
8 i B =% (7) = (3) +(6) 6,168 A 49,540 55,708
5 KRS At (8) 0 0 0
%ﬁ%lauéiﬁ(ﬁ%ﬁ%ﬂ#ﬁé(n) (7)+(10) 6,168 A 49,540 55,708
é%ﬁ(ﬁ@ﬁt@ﬂﬂ#zﬁé(m) (1D)->12)-(13)-(14) - (11 6,168 A 49,540 55,708
B Bl T S FE RO E AR (17) 14,842 64,382 A 49,540
;; L S T B 4R (19) = (16) + (17) + (18) 21,010 14,842 6,168
VR S B A4 (24) = (19) +(20) + (21) +(22) - (23) 21,010 14,842 6,168




EEMT FELEEE
(E) /\mﬁ 3A31HA

(H) 454 44
MESTEHEE AL AR AR B A SR

1H

(L 1)

R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)
A 1,131,071 1,520,566 A 389,495
I R VE A 1,131,071 1,520,566 A 389,495
< TR AU 336,071 400,566 A 64,495
W AN _ 795,000 1,120,000 A 325,000
] Y — EAEE A R (1) 1,131,071 1,520,566 A 389,495
bl [FFERE 221,224 123,190 98,034
= THFEAn T 138,180 91,290 46,890
£ FEE 83,044 31,900 51,144
%) FEE 114,132 6,040 108,092
il BISTERRT 7,852 6,040 1,812
e 18,040 0 18,040
» FBLATE 36,400 0 36,400
o Mt 51,840 0 51,840
) Mty 51,840 0 51,840
HBUDCARERH 79,692 0 79,692
H— v X G E Q) 415,048 129,230 285,818
P — B X EEEECER (3) = (D) - (2) 716,023 1,391,336 A 675,313
Zuz 2 GV AERNEAS 57 53 4
By i b TR A ORI LE B S A4S 57 53 4
o [ — A IEESIMAE R (4) 57 53 4
HH B — e X {EESNVE HEE(5) 0 0 0
o H— B A {EENMEECER (6) = (4) - (5) 57 53 4
8 HE k280 (7) = (3) +(6) 716,080 1,391,389 A 675,309
B | P A S PE 7T K i 469,999 0 469,999
a oo HUELE TR 469,999 0 469,999
p BRI 4R 5T (8) 469,999 0 469,999
o FERIHIEGERR (10)=(8) - (9) 469,999 0 469,999
B o il 4 & Bl R (11) = (7) +(10) 1,186,079 1,391,389 A 205,310
RIS (16)=(11) - (12)-(13) - (14) - (15 1,186,079 1,391,389 A 205,310
| E R B 1 e R AR (17) 5,016,459 3,625,070 1,391,389
C | R T B R 2R (19) = (16) +(17) + (18) 6,202,538 5,016,459 1,186,079
oWk AR EE B IR AE (24) = (19) +(20) +(21) +(22) - (23) 6,202,538 5,016,459 1,186,079




BEEREEAS FREEEEE
(H) &f548 4H 1H () &f64 3H31H
MESTEHEE AL AR AR B A SR

(L 1)
R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)

e Y — BRI (1) 0 0 0
aH H— v X G E Q) 0 0 0
: T — B X EEEECER (3) = (1) - (2) 0 0 0
[WﬁﬁﬂEM%émﬁ 9 9 0
b 6 TH 452 ORI AL >4 S I g 9 9 0
9 — B A IEESMNE R (D) 9 9 0
HH +— e A EINE A (5) 0 0 0
" H— B A {HENMEEER (6) = (4) - (5) 9 9 0
o B BA (7) = (3) +(6) 9 9 0

[] FERIN R 5T (8) 0 0 0
B 5 | ail 24 TS Eh s AE (11) = (7) +(10) 9 9 0
G Eh I ECERA (16)=(11) - (12) - (13) - (14) - (15 9 9 0
Mm%ﬁﬂﬁﬁﬁﬁ?ﬁﬂﬂ 9 A9 18
Y R RS B B R R (19) = (16) + (17) +(18) 18 0 18
| oo RE LA U EE (22) 0 9 A9
o [V HA AR R Eh RS A (24) = (19) +(20) + (21) +(22) - (23) 18 9 9




< BHLOESE FEEEHEE
(F) &6 3H31H

(H) 454 44
MESTEHEE AL AR AR B A SR

1H

(72 1)
R AR L () B4R HE P (B) 1k (A) - (B)

E Y — B ATEBIGEEE (1)

5 — v A yEEhE B A (2)

Y — B AR GERE (3) = (1) - (2)

iR R L &

=S

CRel P A O B ALK G g
; T — & A GBI (4)

- H— b AR E AN F &1 (5)

Y — EATEESMEIRGERE (6) = (4) - (5)

Y

e i B RO ERA (7) = (3) +(6)

H Feplli 4w 5t (8)

Pl 5 | HiT =5 BT A AR (1) = (7) + (10)

éaﬁﬁﬁ%%%imﬂi%éﬁﬁ(l6) (11)-(12)-(13)-(14)- (1]

RG] e T B JRE R (17)

Qé@%ﬁ@%@ﬁﬁ?ﬁﬂ%(wﬂﬂﬂﬂw)

|| RS Eh B E AR (24) = (19) +(20) + (21) +(22) -

(23)

QIO W N N[NNI N[O |O|O

WW[[O|WW | DWW DWW WD

[ N [ | | | g
oW = o|——|ol—|— —|o|lo|o




A ARG v 2 — S ¥ FENEEEE
(F) &6 3H31H

(H) Sf54 4H 1A

thefmibis N4 thafRtbis NIRRT SRR i ag s

CHA7: 1)

R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)
Z Rt AN 4,095,000 4,095,000 0
X ET A 52 FE4 I AR 4,095,000 4,095,000 0
| AR ARGy - B B2 TR 4,095,000 4,095,000 0
I FHENLE 152,500 96,000 56,500
FI BRI A% 152,500 96,000 56,500
HAR R A& v # —FI NG 152,500 96,000 56,500
H— B A IEENN AR E (1) 4,247,500 4,191,000 56,500
NG 2,177,988 3,061,876 /\ 883,888
FEH EEE ARG 1,722,224 2,722,211 A 999,987
1L TE R FI 2 455,764 339,665 116,099
H | FEE 1,675,206 1,647,322 27,884
| vl REcE 21,282 13,169 8,113
[ LR 82,056 87,938 A 5,882
A FHIEAELE 82,056 87,938 A 5,882
5 IKIE LA 262,960 271,290 A 8,330
&) B 184,520 223,568 A 39,048
Ji H ALK, 22,736 24,001 A 1,265
k| KIEE 55,704 23,721 31,983
DI BREFE 25,447 44,193 A 18,746
% PR 25,447 44,193 A 18,746
BAEEE 134,400 133,357 1,043
B T ¢ 976,213 791,450 184,763
ICEE S0 B g s 308,000 249,150 58,850
WIHE ST 668,213 542,300 125,913
FEE 11,163 8,837 2,326
PRI A 12,733 12,248 485
FH BN FR 122,552 258,440 A 135,888
PRSFEE 26,400 26,400 0
H— v R yEEVE H G (2) 3,853,194 4,709,198 A 856,004
H— B R IRENEEGERR (3) = (1) - (2) 394,306 A 518,198 912,504
Tl [ OMmoH— e AIEEML LS 148,881 127,722 21,159
iy MEIY 2% 148,881 127,722 21,159
o3 I HEI 2 148,881 127,722 21,159
w [ HELS 4 148,881 127,722 21,159
" H— B A VRN AN A 51 (4) 148,881 127,722 21,159
i Y — B X IEEIN A (5) 0 0 0
i H— A EESMNEECER (6)=(4) - (5) 148,881 127,722 21,159
8 B EA (7) = (3) +(6) 543,187 A 390,476 933,663
o e A C) 0 0 0
Bl g BT S B EEEE (1) = (7) +(10) 543,187 A 390,476 933,663
é%ﬁ(ﬁ@ﬁ%ﬁ#ﬁé(m) (11)-(12)-(13)-(14) - (11 543,187 A 390,476 933,663
- [ A R B B e =2 (17) 1,138,396 1,528,872 A 390,476
B R B BB A (19) = (16) + (1) + (18) 1,681,583 1,138,396 543,187
* [ R R T BBk 25 (24) = (19) +(20) + (21) + (22) - (23) 1,681,583 1,138,396 543,187




FEISHEME IR VA v b FHEEEEEE
() Sfe4d 3H31H

(H) Sf54 4H 1H
MESTEHEE AL AR AR B A SR

(A2 1)
hER H AR R (A) B4R FEDBE (B) 149 (1) — (B)

e Y — BRI (1) 0 0 0
: +— e IEEE HEF(2) 0 0 0
: — R IEEIEBGER (3)=(1) - (2) 0 0 0
B — R IEESMAE R (4) 0 0 0
L Y — B ATEES G (5) 0 0 0
: — RIS AR (6)=(4) - (B) 0 0 0
8 HE IR 2 (7) = (3) +(6) 0 0 0

H Bl ggEt (8) 0 0 0
(B R R B M R R (17) 2,186,414 2,186,414 0
S YR B E B ROERE (19)=(16)+(17) +(18) 2,186,414 2,186,414 0
| R EE B ISR (24) = (19) +(20) + (21) +(22) - (23) 2,186,414 2,186,414 0




BRI

(H) Sf54 4H 1A

thefmibis N4 thafRtbis NIRRT SRR i ag s

B S R A S 1 OFRRR SO IR EhEH A

() Sfe4d 3H31H

(L 1)
hER H P (A) B4R HE R (B) 1A (A) - (B)

TR AR Al Bh AN Ak 3,179,532 0 3,179,532

% WA B 4l Bh A2 U 2% 3,179,532 0 3,179,532

H— A TEEN A EF (1) 3,179,532 0 3,179,532

N2 2,623,935 0 2,623,935

¥ FEH Bk A G G- 2,277,095 0 2,277,095

| AER Ty IE =g 346,840 0 346,840

Bl [FEE 351,557 0 351,557

A | e 179,520 0 179,520

gﬁg Bl B 106,871 0 106,871

palm|  RESCEE 4,160 0 4,160

ik WBE T 37,212 0 37,212

D THFES 2 21,484 0 21,484

il I O 2,310 0 2,310

Y ¢ 194,040 0 194,040

R 194,040 0 194,040

H— v A IGENVE HEE(2) 3,169,532 0 3,169,532

H— B A IHEh IR ERE (3) = (1) - (2) 10,000 0 10,000

E BRI E R (4) 0 0 0

: | & Y — B R IEEINE A (5) 0 0 0

: B— B A IEENSME IR A (6) = (4) - (5) 0 0 0

TR i HE A= 8H (7) = (3) +(6) 10,000 0 10,000

A R 2 (8) 0 0 0

FLo | i 24 B Bh IR 248 (1) = (7) +(10) 10,000 0 10,000

TR B R ZE4E (16) = (11) - (12) - (13) - (14) - (15 10,000 0 10,000

YRS B R ERE (19) = (16) +(17) +(18) 10,000 0 10,000

: VR AR B ek 25 4E (24) = (19) +(20) +(21) + (4 10,000 0 10,000




# NAEALTEED
(H) Sf54 4H 1H
MESTEHEE AL AR AR B A SR

HEIEI R E

() Sfe4d 3H31H

CHA7: 1)
R AR P (A) BT FEVR B (B) HETE (A) - (B)
YTy g RN EA 300,000 400,000 A 100,000
(R =4 B 0 A I AR 300,000 400,000 A 100,000
[ — SRR Sy AN AR 300,000 400,000 A 100,000
IAEEIEA 259,900 35,400 224,500
ZINE IR 259,900 35,400 224,500
va B — B ARV s 51 (1) 559,900 435,400 124,500
NNEEZZ 899,403 126,581 772,822
= EEE 239,800 0 239,800
A RE A 184,644 0 184,644
\&q OEVELEREDSEWEEYE 374,959 26,581 348,378
i) Bk 43 100,000 100,000 0
ﬁ§%§ Z DOt DBk 4 E 100,000 100,000 0
ﬁ&}ﬁ 5 198,443 254,080 A 55,637
2 B A 183,524 241,500 A 57,976
il FHIEAELE 9,839 10,000 A 161
B 9,839 10,000 A 161
FEE 3,163 55 3,108
FBLAGE 1,917 2,525 A 608
H— v X yEENE G (2) 1,097,846 380,661 717,185
H— B RIRENEEGERA (3) = (1) - (2) A 537,946 54,739 A 592,685
HB 22N A =S ia I & 8,220 0 8,220
€ iy HME A% 8,220 0 8,220
e HENL A% 8,220 0 8,220
5 o HELS 4 8,220 0 8,220
" H— B AT AN A 51 (4) 8,220 0 8,220
i Y — B AR R (5) 0 0 0
i H— A EESNEECER (6)=(4) - (5) 8,220 0 8,220
8 B EA (7) = (3) +(6) A 529,726 54,739 A 584,465
H RN AR 5T (8) 0 0 0
Bl o BT S B R (1) = (7) +(10) A 529,726 54,739 A 584,465
éaﬂﬂﬁﬁiﬂiﬁﬁi%éﬁﬁ<16> (1D)->12)-(13)-(14) - (11 A 529,726 54,739 /A 584,465
| T R R R A (17) 1,994,783 1,940,044 54,739
? 2 R R S E AR (19) = (16) + (17) + (18) 1,465,057 1,994,783 A 529,726
ok AR E B IR AE (24) = (19) +(20) +(21) +(22) - (23) 1,465,057 1,994,783 A 529,726




B%%“ A AftE B ST EEA

(H) &F54 48 1H  (E) S6HE 3ﬂ31El

ML EHEE AL ﬁ%@&%AEEW&Aﬁ&%%Q

(L 1)
R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)

W YTy g RN EA 100,000 10,000 90,000
| SRSy A A 100,000 10,000 90,000
R X1 o) & 100,000 10,000 90,000
= H— B R IEEN S E (D) 100,000 10,000 90,000
e FEE 11,609 0 11,609
) Mty 11,609 0 11,609
Lol EL| S 0 961 A 961
iyg‘z% AR 0 961 A 961
D E PR (hacte R _ 0 961 A 961
o H— v X G HE Q) 11,609 961 10,648
e T — B X EEEEECER (3) = (1) - (2) 88,391 9,039 79,352
H — B A IEESMNE R (D) 0 0 0
H +— e A EESNE G (5) 0 0 0
: H— B A EENMEECER (6) = (4) - (5) 0 0 0
8 B R (7) = (3) +(6) 88,391 9,039 79,352
| RN 4R 5T (8) 0 0 0
malﬁuéﬂ;qzﬁmmﬂ#ﬂgmu) (N +(10) 88,391 9,039 79,352
éﬂ;ﬁ{ﬁb%ﬂ#?ﬁ(m) (11)-(12)-(13)-(14) - (11 88,391 9,039 79,352
| ET A A e S R (17) 1,329,076 1,320,037 9,039
i‘s 2 R B R AR (19) = (16) + (17) +(18) 1,417,467 1,329,076 88,391
* [ ERTE B AR (24) = (19) +(20) + (21) + (22) - (23) 1,417,467 1,329,076 88,391




& - HOERIEEIE SRR EEEE

(E) /\%u5$ 47 1H

(F) Sfes 3H ?1 H

thefmibis N4 thafRtbis NIRRT SRR i ag s

CHA7: 1)
R AR P (A) BT FEVR B (B) HETE (A) - (B)

HH A IS 250,014 260,037 A 10,023

T4 I 2k 250,014 260,037 A 10,023

Eo AR IVEAN 250,014 260,037 A 10,023

R i Bh A 2E 630,000 518,000 112,000

WAL 4 Bh A 4% 90,000 90,000 0

1% BINZ &4 A 7« LR AR IS 90,000 90,000 0

o Hﬁ/\ﬁa TS 540,000 428,000 112,000

A e B4 Ly A I S 540,000 428,000 112,000

| %%Hzﬁ 205,400 154,500 50,900

= FI BN 2% 205,400 154,500 50,900

A T &S 8RR NS 205,400 154,500 50,900

\&q B — B AR A4S 51 (1) 1,085,414 932,537 152,877

w0 | EEE 1,103,917 896,994 206,923

Y Bl k4 3 HY 350,000 350,000 0

ik Z DD Bl A% 4 350,000 350,000 0

2 fEAk SR HE R e 3,917 6,994 A 3,077

%B% %k‘%ﬁi%%% 750,000 540,000 210,000

ESET 45,572 13,011 32,561

$ SIHFESL B 23,839 9,134 14,705

IR 23,839 9,134 14,705

FEE 8,497 3,877 4,620

FBLAGE 13,236 0 13,236

H— v R JEEVE G (2) 1,149,489 910,005 239,484

— B RIRENEEGERR (3) = (1) - (2) A 64,075 22,532 A 86,607

& +— B AIEESME R (4) 0 0 0

H +— v X {EESNE HE (5) 0 0 0

H— A EESNEECER (6)=(4) - (5) 0 0 0

8 B EA (7) = (3) +(6) A 64,075 22,532 A 86,607

H RN AR 5T (8) 0 0 0

Bl o BT S B R (1) = (7) +(10) A 64,075 22,532 A 86,607

éﬂ;ﬁzﬁﬁi@ﬂﬁ#%(m) (1D)->12)-(13)-(14) - (11 A 64,075 22,532 A 86,607

- | BRI B P o A A (17) 604,396 581,864 22,532

3::1 2 RS B R AE (19) = (16) + (17) + (18) 540,321 604,396 A 64,075

° [k A B IR S AE (24) = (19) +(20) +(21) +(22) - (23) 540,321 604,396 A 64,075




Atk ERL - TR EIE  FEEEIEE

(H) 454 44
MESTEHEE AL AR AR B A SR

1H

() FFeH 3)%531 H

CHA7: 1)

R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)
YTy g RN EA 1,353,834 1,493,145 A 139,311
I itﬁﬂ§§/\ﬁﬂ’\/\415§ 1,353,834 1,493,145 A 139,311
o W B Al oy A AR 1,353,834 1,453,145 A 99,311
)<ﬁzﬁ%ﬁ%ééﬁa/\ééuzfé 0 40,000 A 40,000
H—E AIEE ST (1) 1,353,834 1,493,145 A 139,311
FEE 417,757 375,569 42,188
va HUH 231,757 159,569 72,188
| LB 4 0 30,000 A 30,000
[ Bh k43 HY 186,000 186,000 0
2 18 B A A 30,000 30,000 0
W& E DO Bk E A 156,000 156,000 0
| EEE 791,895 502,757 289,138
Y SRR 665 40,985 A 40,320
NENAE! Bitv— v AWML E 0 23,200 A 23,200
D 7 — RN T oD HEFEM 665 17,785 A 17,120
% SR 772,200 446,376 325,824
FEE 19,030 5,145 13,885
FBLAFE 0 10,251 A 10,251
Bhk 4 30,000 0 30,000
Bl k4 2 H 30,000 0 30,000
H— v R JEEVE G (2) 1,239,652 878,326 361,326
— B RIEENEEGERR (3) = (1) - (2) 114,182 614,819 A 500,637
& +— B AEESME R (4) 0 0 0
H H— e X {EESNE HE (5) 0 0 0
H— B A {HESNEECER(6)=(4) - (5) 0 0 0
T R EE (7) = (3) + (6) 114,182 614,819 A 500,637
H RN AR 5T (8) 0 0 0
B o il & B R (11) = (7) +(10) 114,182 614,819 A 500,637
é%@éﬁ%ﬁ#ﬁﬂm)(ﬂ)(m)(w)(m)(ﬁ 114,182 614,819 A 500,637
| T R R A (17) 1,303,868 689,049 614,819
@é%%ﬁ@@@ﬁﬁ#ﬁu%(mﬂuwﬂw) 1,418,050 1,303,868 114,182
* [ R BT BB 2R (24) = (19) +(20) + (21) + (22) - (23) 1,418,050 1,303,868 114,182




RTUoT 4 TIRBBERFESE FHEFHFE
() &64E 3731 El

(H) 454 44
MESTEHEE AL AR AR B A SR

1H

CHA7: 1)

R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)
YTy g RN EA 150,000 300,000 A 150,000
T LRI SRR S AU 150,000 300,000 A 150,000
(e — SRRy AN AR 150,000 300,000 A 150,000
= B — B AR A4S 51 (1) 150,000 300,000 A 150,000
Al | F¥EE 220,000 190,000 30,000
5 Bhpk 432 H 220,000 190,000 30,000
@% RT o7 4 7 HIKB Rk 42 H 220,000 190,000 30,000
ﬂé;ﬁ HHE 1,100 0 1,100
ik FHCEH 1,100 0 1,100
D | Pkt 5 HN 2 29,140 31,790 A 2,650
il H— v X JEEVE G (2) 250,240 221,790 28,450
H— B X IEEHEECER (3) = (D) - (2) A 100,240 78,210 A 178,450
i +— B AEESMEE (4) 0 0 0
] H— e X {EESNE HE (5) 0 0 0
H— B A {HESNEECER (6)=(4) - (5) 0 0 0
8 i B =% (7) = (3) +(6) A 100,240 78,210 /A 178,450
5 KRS At (8) 0 0 0
ﬂé%lﬁuéaﬁﬁﬁﬁéﬁt%ﬁi%éﬁﬁ<ll> (7)+(10) A 100,240 78,210 A 178,450
éﬂﬁﬂﬁ%iwfmﬁi?éﬁﬁ(IG) (1D)->12)-(13)-(14) - (11 A 100,240 78,210 A 178,450
B Bl T S FE RO E AR (17) 558,946 480,736 78,210
@ R AT B R AR AE (19) = (16) + (17) +(18) 458,706 558,946 A 100,240
VR S B A4 (24) = (19) +(20) + (21) +(22) - (23) 458,706 558,946 A 100,240




P RE R FERERIEE
() Sfe4d 3H31H

(H) Sf54 4H 1H
MESTEHEE AL AR AR B A SR

CHA7: 1)

R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)
YTy g RN EA 20,000 306,777 A 286,777
AR TE I WA B A I 2% 20,000 306,777 A 286,777
Z Ot D [E - IR &I 20,000 306,777 A 286,777
=Rt AR 627,000 622,000 5,000
X BT A 52 FE4 IS 627,000 622,000 5,000
ARG SR AR 352 e A 627,000 622,000 5,000
IS A RO R 2R 30,693,724 30,638,442 55,282
| RN RS 30,693,724 30,638,442 55,282
(I &ML ZE) 27,876,201 27,501,313 374,888
IR 2% 24,004,721 24,339,743 A 335,022
AL el N 3,871,480 3,161,570 709,910
(R HE A AILE) 2,817,523 3,137,129 A 319,606
I EAHAIE () 2,817,523 3,137,129 A 319,606
H— B X IEEN A E (D) 31,340,724 31,567,219 A 226,495
NS 32,576,863 32,679,949 A 103,086
Tk B ek 11,253,216 10,560,991 692,225
T B ka 10,290,600 9,331,000 959,600
T E5EFY 962,616 1,229,991 A 267,375
e E 5 2,918,072 3,077,754 A 159,682
va IR YN 1,626,770 1,548,400 78,370
| FEH ETR B AR 5 13,137,000 13,995,815 A 858,815
[ JRIERAG A+ 2 986,145 956,622 29,523
A JET T Y R ST LA BT AS 1T 5 1 24 Al A 986,145 956,622 29,523
Ny 1L TE A2 2,655,660 2,540,367 115,293
g | FHEE 2,803,237 3,483,529 A 680,292
Y H i 2,408,858 3,084,526 A 675,668
ik Il A 2y 0 71,500 A 71,500
D E E 44,927 42,503 2,424
il XML E 349,452 285,000 64,452
HHE 1,088,404 1,087,077 1,327
1 EF| A 86,002 151,258 A 65,256
R A 0 6,640 A 6,640
WHEWF R & 0 35,640 A 35,640
HHEAELE 12,884 2,896 9,988
FHIEAELE 12,884 2,896 9,988
JKIE YA 0 10,599 A 10,599
AEE 0 10,599 A 10,599
PR 0 14,150 A 14,150
PR 0 14,150 A 14,150
FEE 102,522 79,491 23,031
PRER A 54,287 56,630 A 2,343
EfEE 233,376 234,000 A 624
FBLATE 33,823 18,768 15,055
PREF R 565,510 477,005 88,505
T 2N 405,992 280,992 125,000
] Je Aif] B 4 55 R 1 A ST 4 U &8 30,992 30,992 0
H— X EEVE G Q) 36,843,504 37,500,555 A 657,051
H— B X EEEEECER (3) =) - (2) A 5,502,780 A 5,933,336 430,556
BT EEN S 630 1,520 A 890
I U230 T4 52 ORI AL X 4 30 7 23
; T FE 452 BRI B 2 &I 3 600 1,513 A 913
E&%@@@%—E%%@%Wﬁ 47,700 2,768 44,932
@bzﬁ HEN 2 47,700 2,768 44,932
4 HE e 47,700 2,768 44,932
e HME A% 47,700 2,768 44,932




W I — B X IEESMNAR EF (4) 48,330 4,288 44,042
B +— e X {EESNE HE (5) 0 0 0
il H— B A IEESNEECER (6)=(4) - (5) 48,330 4,288 44,042
R i B8R (7) = (3) +(6) A 5,454,450 A 5,929,048 474,598
— A Xy A A2 7,380,000 9,219,000 A 1,839,000
gl RIS -t AR Sy A I 4R 7,380,000 0 7,380,000
i ENSE LV S T A& 0 9,219,000) A 9,219,000
1 fF*f/%lJuﬂﬁsza) 7,380,000 9,219,000 A 1,839,000
o HIENEH IR VNG g 4,850,000 0 4,850,000
@% fﬂmfﬂtﬁ t’ x%%mm o7 N4 4,850,000 0 4,850,000
ﬁﬁﬁﬁ T E NS X NS E A 4,850,000 0 4,850,000
" ##%IJ%#H p+ (9) 4,850,000 0 4,850,000
R EEECER (10)=(8) - (9) 2,530,000 9,219,000 A 6,689,000

B 5 | Al 24 S EhE e AE (1) = (7) +(10) A 2,924,450 3,289,952 A 6,214,402
R Eh I EERE (16)=(11) - (12) -(13) - (14) - (15 A 2,924,450 3,289,952 A 6,214,402
i | BT ARy Eh e e KR (17) 987,784 A 2,301,555 3,289,339
w | 4 WR MBS B R E AR (19)=(16) +(17) +(18) A 1,936,666 988,397 A 2,925,063
ii Z D D FE LA FE N (23) 0 613 A 613
ol I RELRBRRE N AR N AR 0 613 A 613
o | RS S B PR ZE A (24) = (19) +(20) +(21) +(22) - (23) A 1,936,666 987,784 A 2,924,450




AR RS FEREERE

(H) Sf54 4H 1A

thefmibis N4 thafRtbis NIRRT SRR i ag s

() FFeH ?ﬂ 31H

(L 1)

R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)
lE H— B A IEEEET (1) 0 0 0
- [ ek £ = 22 58,190 58,190 0
« | B — B A IEEE G (2) 58,190 58,190 0
H— B X EEHEECER (3) = (D) - (2) A 58,190 A 58,190 0
i +— B AIEESMEE (4) 0 0 0
H +— e X {EENVE HE (5) 0 0 0
H— B A IEENMEREE (6)=(4) - (5) 0 0 0
% o B A= %A (7) = (3) +(6) A 58,190 A 58,190 0
i FERIN S 5T (8) 0 0 0
%E%Iﬁﬂéuﬂ;ﬁ(ﬁhimﬁz#%’éul) () +(10) A 58,190 A 58,190 0
é%ﬁ{%@htﬁéﬂﬂz#ﬁé(w) (1D)->12)-(13)-14)- (15 A 58,190 A 58,190 0
[ ET A A e i M R A (17) 950,446 1,008,636 A 58,190
354 S R AR T B P RS (19) = (16) + (17) + (18) 892,256 950,446 A 58,190
VR S B IR (24) = (19) +(20) + (21) +(22) - (23) 892,256 950,446 /A 58,190




EENEEEE FEEEHEREE
(H) Sf54 4H 1A

thefmibis N4 thafRtbis NIRRT SRR i ag s

() Sfe4d 3H31H

CHA7: 1)
R AR FEYFE (A) B4R HE 50 (B) HETE (A) - (B)

YTy g RN EA 20,000 40,000 A 20,000

AR TE I WA B A I 2% 20,000 40,000 A 20,000

Z O D E - B &I 20,000 40,000 A 20,000

IS R R U 25,973,540 25,877,370 96,170

| JEEI R RN 25,973,540 25,877,370 96,170

JEETE S RN AR 22,774,160 22,880,790 A 106,630

I T 85 R B 3,199,380 2,996,580 202,800

B — B ATEEN A4S 51 (1) 25,993,540 25,917,370 76,170

N 20,769,335 18,700,145 2,069,190

Y= Faralt 7,182,517 6,280,052 902,465

T B ke 6,326,100 5,417,400 908,700

B8 FY 856,417 862,652 A 6,235

B E 5 1,409,179 956,066 453,113

IR YN 995,346 958,392 36,954

FEH ETR B AR 5 8,407,274 8,164,312 242,962

JRIERAG A 2 608,748 301,614 307,134

va T T Y R ST LA BTG 1T 5 1 24 Al A 608,748 301,614 307,134

| L EE T 2,166,271 2,039,709 126,562

vl | EEE 676,826 714,538 A 37,712

A GETTE ¢ 651,496 664,583 A 13,087

I HEWMFELE 0 24,365 A 24,365

o) M 25,330 25,590 A 260

W | SR 2,007,531 2,120,204 A 112,673

N5 fE R A e 54,725 56,619 A 1,894

Dl WHEMF SR 74,740 69,020 5,720

% AR 188,089 221,524 A 33,435

LR 188,089 221,524 A 33,435

JKIE Y 0 60,000 A 60,000

B 0 30,000 A 30,000

KBk 0 30,000 A 30,000

AR 830 39,900 A 39,070

B 830 39,900 A 39,070

BAE EE 62,197 63,244 A 1,047

FEE 28,137 23,880 4,257

PRER A 20,358 22,022 A 1,664

SR 766,682 855,000 A 88,318

BT 6,483 0 6,483

PRETFAR 805,290 708,995 96,295

PRl A 1 102 30,992 30,992 0

] Je Aif] B 4 55 R 1 A ST 4 U K8 30,992 30,992 0

H— X EEVE G Q) 23,453,692 21,534,887 1,918,805

H— B X EEEEECER (3) =) - (2) 2,539,848 4,382,483 A 1,842,635

Tl [ OMmOH — v AIEESML LS 20,000 0 20,000

iy MEIY 4% ‘ 20,000 0 20,000

i [ %‘éuﬂﬁs 20,000 0 20,000

o HEN 4 ) 20,000 0 20,000

0 H— B A VEEN AN A 51 (4) 20,000 0 20,000
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